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Seashell Search

There once lived a tiny hermit crab called Coral.
Coral was sad because she was getting too large

29 for her shell. She needed to find a new home. Coral
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had searched the ocean floor for many days but
no shells were quite right. The first shell was too
hard. The second shell was too soft. The third
shell was too lumpy. Finally, Coral thought that
she had found the perfect, shiny shell but inside
she found a grumpy sea snail taking a nap. She
scurried away feeling miserable. Suddenly, Coral
spotted the tip of a shell poking out of the seabed.
She dug it out of the sand and cleaned it until it
sparkled. The shell was just right.

Quick Questions

. Why does Coral need a new home?

. How do you think Coral feels about her new home

at the end of the story?

. Find and copy two words from the text that

means the same as ‘unhappy’.

. Number these sentences from 1 to 3 to show the

order that they appear in the text.

The shell was too lumpy.

The shell was too hard.

The shell was too soft
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Answers

. Why does Coral need a new home?

Coral needs a new home because she is too big for her
old shell.

. How do you think Coral feels about her new home

at the end of the story?
Accept any sensible linked to the text, such as: I think
that Coral feels happy with her new home because she
thinks that it is just right.

. Find and copy two words from the text that

means the same as ‘unhappy’.

Accept the answers ‘sad’ and ‘miserable’.

. Number these sentences from 1 to 3 to show the

order that they appear in the text.

The shell was too lumpy. | 3

The shell was too hard. 1

The shell was too soft 2
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